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1. AMERSF: 2185x1535x2485mm (K x 5% x 5);
2. BIEEAL: BEDUSKUL. SR =Sk
P 3. FHEZE: BB Q235A; BA%: T EE P 120x50xT3. 0, & ¢ 114xT3.0
4, FRINGEEAT: 150KG
5. BCESZHEF: $50 B
6. HLEIFHE: 165KG
PATIRHE GB17498. 1-2008. GB17498. 2-2008
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F= o A AR T A5 SH-G599
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HARE 100kg

P R 1242%588+390mm (P #k) 1242%588%1130mm (3L #2)

A RSE 1412%412%420mm = FE 28. 2kg % E 23. 5kg
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HikE: 4 50cm* 3% 50cm 3# 100cm*100cm

EFE. 1.2cm,2.0cm,2.5cm,3.0cm,3.5¢cm,4.0cm,4.5cm,5.0cm

AR ECAEE: 59°

PLHIEE: 1.6MPa

W2 150%

7K /7: 500N JEJE 0.31cm
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By CFRFEEED A, SGS ARFEMY IS 2 75Tk NPEOs A, SGS - FEMy B 4 £ 75Tk OPEOs #4:1
HZ%E 1200
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